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responsible for it. 

Each question has four alternative answers. The candidate has to darken only one circle/bubble on the 
Answer-Sheet using black/blue ballpoint pen indicating the correct answer as shown below. If more than one 
answer / option is found darkened, then the question will be treated wrong and will not be evaluated. 

(A) 

ENVIRONMENTAL STUDIES 

Candidates should answer in their own words and adhere to the word limit as practicable. 

(A) ry 

Answer all questions: / 4416 eC#A G6T I8S / Hà yAEF F Srr f¢: 

The figures in the margin indicate full marks. 

Abiotic environment does not include 

(A) air 

(A) a0an 

(A) qi 
(C) ISÇTT 

(A) afy 1 

AECCENVS 

(B) water 

(B) 9G 

Which of the following is not an air pollutant? 
(A) Smoke 

(B) G 

Instruction 

(B) CO 

(B) CO, 

Carrier of Dengue disease is 
(A) Aedes mosquito (B) Culex mosquito 

(B) f%9 I 

(C) decomposer 

(C) fRGatST 

(C) 344cA 

(C) Nitrogen 

(C) AIRCOtcs 

(B) CO, 

(D) soil 

(D) yfe 

(C) atAtfr 

Full Marks: 80 

(D) 4Tet 

(D) Sulphur Dioxide 

(D) H5-SIS-3IISS 

(D) YRNIU 

(C) Anopheles mosquito (D) Housefly 

(D) nf 

Turn Over 
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(A) yfe HR 

(A) TG* 

(A) tRe 

Which of the following is a biodegradable waste? (A) Plastic 

(C) Photosynthesis 

(C) A1oRUR (RF 

(A) Cycling of materials 

(C) VATI0TTEUATe 
(A) Terej TTATE 

(A) fRAIG 

(B) YAI HEBY 

(A) 344tI 

Energy is the driving source of an ecosystem. It primarily comes from: 

(B) Polythene 

Process of photosynthesis is found (A) decomposers 

(A) >% 

(B) ffRH 

(A) 1% 

(B) hfafe 

(A) 44n 
(C) Unojäe 

(B) producers 

(B) Ge 

(B) 3T4T<HHT 

(B) 10% 

(B) So% 

The direction of energy flow is 
(A) unidirectional 

(B) 10% 
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(B) bidirectional 

(C) ynfhfeH HEBR (D) fT 

(B) f24: 

(C) Glass 

2 

(C) *5 

The efficiency of energy flow in the ecosystem is about (A) 1% 

(C) fa 

(B) Sunlight 

(B) Ao (E 

(D) Heat liberated during respiration 

(B) Lt farurAre 

(C) consumers 

(D) VAH-92HATC Sy IqqTc 

(C) 

(C) TTt5THT 

(C) s0% 

(C) co% 

(C) 50% 

(C) cyclic 

(D) None of these 

(B) f-y 

(D) 4HA FAS 

(C) asfRÊ 

(D) top consumers 

(D) Á5 $ 

(D) Hajaa gtt 

(D) 100% 

(D) Soo% 

(D) 100% 

(D) none of these 

(D) gTg 
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Trophic levels are formed by 
(A) only plants 
(C) only carnivals 

(C) +ad HrHIET GRI 

Phytoplankton are 
(A) producer of forest 
(C) consumer of sea eco-system 

(A) 

(C) North-Eastern Himalayas 

(A) RA (B) -RNIRI qCa 

(C) BTR-yatu fR4Y 

(A) bAgta GaJ 

(A) BTAI 

(B) R Gevs 

(A) Forest fire 

Red panda, a highly endangered species is found in which part of India 
(A) Costal region (B) Trans Himalayan region 

(C) Volcanic eruptions 

An example of natural pollution is 

(A) W1ae 

(C) wICorfas jee 

(B) l 

(B) ge 

(B) only animals 

(D) food chain linked organism 

Asian elephant is now endangered because it is being killed for 
(A) Skin (B) Musk (C) Ivory 

3 

(B) (44og Ricwa atat 

(D) -R 

(B) producer of lakes 

(D) omnivores 

(B) a 
(D) HGf 

(D) Terai region 

(C) DeR-fateTGA 

(B) 41GY AT 
(D) TRTZ ta 

(C) wtvg GU 

(C) Efa 

GA It 

(D) 4 HefD3 

(D) Fur 

(D) d 

(B) Natural organic decays 
(D) All of these 

Turn Over 
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(A) TTH 

COD stands for 

(A) Chemical oxygen demand 
(C) Climate of deserts 
COD-A w 

(A) Chemical oxygen demand 
(C) Climate of deserts 
COD YTà qfs ? 
(A) Chemical oxygen demand 

Water pollution is caused by 
(A) Carbon dioxide 

(A) q-AGA0s 

(A) GTA SIS 3HISS (B) T¢rE 

(B) Fertilizer 

(A) A 

(A) ArY 

(B) Water 

(B) G 

(B) 

BÌÐ is used for the measurement of 

Spraying of DDT to kill insects causes pollution of 
(A) Air 

(A) Atmospheric pollution (B) Thermal pollution 

(B) V q 

(A) AIqHugs yqU (B) �rs yeyT 

Soil pollution is caused by 
(A) Industrial wastes (B) Agrochemical 

(A) 3^efn oteTEH (B) Ffa gdro 

(B) Carbon and oxygen demand 

Aquatic life is damaged by 
(A) Sound pollution 

(D) None of these 

(B) Carbon and oxygen demand 

(D) QA P0AMiDE 

4 

(B) Carbon and oxygen demand 
(D) + yf agT 

(C) PAN 

(C) PAN 

(C) PAN 

(C) Soil 

(C) et 

(A) *71AI=RA 4ef) (B) faefPrs RIÍRT 4GÍj (C) fGDIACSt 

(C) FTga 

(C) Detergents 

(C) fse 

(B) Thermal pollution (C) Air pollution 

(D) Fossil fuels 

(D) tent 

(C) Wetland pollution (D) Nuclear pollution 

(D) targH f 

(D) All of these 

(D) QUHA HOfOR 

(D) GYTt6 Hà 

(D) tAf 

(D) All of these 

(D) 4(4q 1*0o 

(D) GY5 

(D) All of these 

(C) Climate of deserts 
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(A) *R-q 

(A) eafa gyt 

(A) 53ÍA 

Causes of solid wastes are 

(A) Urbanisation 

(A) NEoRU 

(A) 

(A) Lead (r) 

Minamata disease is caused due to pollution by 
(A) Lead 

(B) a-e 

(B) ru ygqut 

(A) 51 

(B) Use and throw culture 

(A) TgT 

An example of natural disaster is 

(A) ftBT 

(B) PAN 

(B) JQs qR fAfers qbA (C) GRCP0A 

(B) PAN 

(A) 0; 

(B) PAN 

(A) 41d TYH AHG0 (B) T-fàt qcI 

Sardar Sarovar Project is situated on the river 
(A) Gapga (B) Yamuna 

(B) 6TGAA Rey 

(A) Bhopal gas tragedy (B) Chernobyl disaster (C) Dam collapse 

(B) 1 

The biggest nuclear accident occurred in 
(A) New York 

(B) 4H1 

(B) Bhopal 

(B) 

(B) 4t 

The main cause of acid rain is 

(C) 4 

(B) H,O 

(C) qTy ugyure 

5 

(C) Over population 

(C) Mercury 

(C) tg4 

(C) YIRT 

(B) TIG UIo 3TGT 

(D) Jqt HÀ 

(C) TeT yftbI 

(C) Cauyery 

(C) ®IA 

(C) RT 

(C) Chernobyl 

(C) GftAA 

(D) 43 HO103 

(C) fa 

(D) 3YR6 à 

(C) �roeU R (D) APo} 

(C) CO 

(D) All of these 

(D) 41A HO{R 

(D) tg-u-s}s (SO-) 

(D) SOz 

(D) SO2 

(D) Earthquake 

(D) YÉrc 

(D) Narmada 

(D) at 

(D) dT 

(D) Beijing 

(D) «fsR 

(D) afos 

(D) SO; 

Turn Over 



OGCBCS/B.Sc./B.Com./BBA/BCABRACTAEVIt Senm./Bnvironmental Studies/AECCENVSIZ018 

26. 

27. 

28. 

29. 

30. 

1321 

(A) O2 

(A) 1f 
(C) �I�THT HHI^S 

(CYJim Corbett National Park 

A disease not caused by water pollution is 
(A) Jaundice (B) Cholera 

(A) sfs 

The first National Park established in India in 1936 is 
(A) Dudhwa National Park 

(A) H 

(A) CAGAAA 

(A) mesosphere 

(B) H,0 

The lowest layer of atmosphere is 
(A) Mesosphere 

(A) 1976 

(A) S9s 18 

(A) H1 1976 

(B) PAt 

(B) tT 

(A) Leaching 

(B) Stratosphere 

(B) CDIPta 

(B) stratosphere 

(B) 1996 

(B) S>> 8 

(B) H 1996 

(C) CO 

(B) Mulching 

(B) If 

(B) Mulching 

6 

(D) H5SIS 3HI^G 

(B) Rajaji National Park 
(D) Kaziranga National park 

(B) 

The Indian Environment (Protection) Act. came into force in 

(D) f ONGj 

(C) AIDs 

SONSjta 

(D) »IsÍrqI TfY TUIA, 

(C) 49 (AIDS) 

(C) AIDS 

(C) Troposphere 

(C) aPfPata 

(C) troposphere 

(C) 1986 

Covering the soil surface by straw, leaves or grasses is known as 
(A) Leaching (C) Terracing 

(D) SO: 

(C) sba8 

(C) HT 1986 

(C) Terracing 

(D) Dysentery 

(D) P 

(D) Hf 

(D) lonosphere 

(D) NGTIAA 

(D) Ionosphere 

(D) 1988 

(D) SYbb: 

(D) HT 1988 

(D) Crop rotation 

(D) Crop rotation 
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(A) ferfas 
All consumers are 

(A) Autotrophs 

(A) -CErel 

(A) FZut 

(A) fE-aiuRrA 

(A) fsAISfbT 

(A) ecological pyramid 

(A) qRfrft ffs 

The conversion of ammonia into nitrates is known as 

(A) denitrification 

An aquarium is an 

(A) Aquatic 

(B) HoftS 

(A) GS 

(B) Carnivores 

(A) r 

(B) R 

(B) H0HIBI 

(C) biogeochemical cycle 

(A) fRe2D 

(A) EIE STIGEH 

(B) nitrification 

(C) arfi30ofh T6 

(B) afofOAA 

(B) 13hoHT 

ecosystem. 

Matter must be recycled again and again by an ecological process called 

(B) Self-regulating 

(B) -fMafas 

Plants that can grow in dry places are called 
(A) Hydrophytes 

(B) Fa4 faf 

(B) Mesophytes 

(B) CAGHIPt 

(B) ATGIEH 

(C) ¢fg 

(C) Heterotrophs 

(B) soil formation 

(C) *ACEt 

7 

(C) faqytt 

(C) qtfho4A 

(C) ammonification (D) nitrogen-fixation 

(C) WytAfAfCA (D) ARCOTcen-fa 

(D) energy flow 

(D) Gut yAIE 

(B) ecological succession 

(C) Artificial 

(C) PâN 

(D) 54 gÑ 

(B) qufRfeftâ sTRfercarR 

(C) pft4 

(D) All of these 

(C) Halophytes 

(D) JT# #à 

(C) JARAD 

(C) yoIsÇH 

(D) AI3gTT fbTHT 

(C) erosion 

(D) Both (A) and (C) 

(D) (A) qR (C) b9I 

(D) (A) 3sf (C) A 

(D) Xerophytes 

The process that causes wearing away and transportation of particles of rock or soil is called (A) salinisation 

(D) (ARD 

(D) hgTH 

(D) landslide 

Turn Over 
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(A) AIGGA 

(A) TqufAAI 

(A) Barometer 

(A) TIGaIADIR 

(A) ARIAer 

The 

(A) TGI 

(A) Rhino 

(A) 9t3 

(A) dsT 

(B) f8| Sda 

(B) Hret feof 

is used in measuring the magnitude of carthquake. 
(B) Seismometer 

(A) Etiology 

(B) AifO3 

(B) frfAer 

biosphere reserve lies in Western Ghats. 
(A) Nanda devi (B) Nilgiri 
Western Ghats -q qU iP A 
(A) C 

is conserved in Jaldapara Sanctuary. 
(B) Nilgai 

(A) fAMta-fARI 

(A) }gfasH 

(B) tafr 

(B) o 

(A) 1ATISAREA (B) tGfsTatyA 

(B) 1g 

(A) arArafsouT (B) arifU`HT 

Sem./Environmental Studies/AECCENVS/2018 

(C) lea 

(C) -44 

(B) Botany 

(B) Gfg-fAI 

(C) Anemometer 

(C) ACADE 

(C) tfr 

(C) Nokrek 

(C) GA 

(C) rr 

(C) Hangul 

(C) ERT 

(C) ~iyT 

(C) AtAIGCASA 

(C) qrfrAfst 

The phenomenon of accumulation of non-biodegradable pestiçides in human beings (A) Bio-mnagnification (B) Bio-degradation 

(D) *H 

(C) Ecology 

(D) 

(C) IG-fII 

(D) Thermometer 

(B) uftffai fa_r (C) HRuft fasrt 

(D) tCAbE 

(D) affer 

(D) Sunderbans 

(D) M4 

(D) yRqT 

(C) Bio-remediation (D) Bio-accumulation 

The study that deals with the interaction of organisms with their environment. 

(D) Crocodile 

(D) a 

(D) ht 

(D) tIUTgfNAAA 

(D) aryesyterT 

(D) Biology 

(D) -ft 

(D) rafsIT 

(B) raff 
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National Park associated with conservation one-horned rhinoceros 
(A) Kaziranga 

(A) ®ifratst 

(A) OIrT 

Algal bloom results in 

(A) 

(A) Global warming (B) Eutrophication 
Tt1 QA (Algal bloom) erS -

(C) SfAA G 

(A) oAH aufri 

NGAN AOta 

(A) AIegstaty 

(A) TorUT 

(A) Crust 

(A) F-F 

(A) HTEATER 

Zoos are examples for 

(B) Ranthambore 

(A) In-situ conservation 

(A) ta-f9 

(B) -RIAAA 

(B) T
e 

The resources that can be replaced by natural ecological cycle is called 
(A) Renewable 

(B) Tquforo 

(A) Air pollution 

(B) Non-renewable 

(B) waAY 

(B) R-TTAYUT 

(B) Biosphere 

(C) Ex-situ conservation 

(B) S 

(B) otqyug 

The portion of the earth and its environment which can support life is 

(C) Corbette 

(B) -fCO| RTe 

(A) 4-fr Hveru (B) -t trev 

(C) PAAG 

(C) TUjertr 

(C) Salinisation 

(B) TiGPLAA e 

(C) yeifthAT 

(C) Exhaustible 

(D) 1GUIAAA GJ 

(C) 

(C) fAraHH g 

(C) Exosphere 

(C) afdyS 

(D) Valley of flowers 

(D) t PG 

(D) ot 3r5 VAIGR 

(C) 4%- R 

(D) Biomagnification 

is the phenomenon in which the earth retains heat 

(B) Green House effect (C) Global effect 

(D) qrrfftboH 

(D) Natural 

(C) AIFK (a) (D) tgoa 

(D) rpft# 
known as 

(D) Atmosphere 

(B) In-vivo conservation 

(D) UGd 

(D) Ex-vivo conservation 

(D) 4N-Ss RAst 

(C) yH-g HYHUT (D) YH-at HRAT 

(D) Land pollution 

Turn Over 
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(A) t 

(A) 1Y g 

(C) Forest fire 

Ozone depletion in the stratosphere will cause 
(A) Global warming 

(A) Gta 

(A) eitac affi 

(C) 3tanfr yAIE 

Water pollution is due to 
(A) agricultural discharges 
(C) industrial effluents 

(A) pfufa fATG TÊ 

(C) S42 

(B) an-by-Q 

(A) 6 gIS H4 1974 

(B) H EIUH YHT� 

(C) 5 y H4 1972 

(B) TI GU 

(A) qaI f 

(A) 4rT fTAT 

Leader of "Narmada Bachao Andolan" 
(A) Vandana Siva 

(B) August 8th 1976 
On which date was the Stockholm Conference on Human Environmental held? 
(A) July 6th 1974 

(B) Medha Patkar 

(B) (I toes 

(B) T YTcOY 

The cause of Bhopal Gas Tragedy is 
(A) Methyl alcohol 

(C) fn g 

(C) T4G THTA 

10 

(C) TATHA 

(B) Increased incidence of skin cancer 

(D) None of these 

(D) gA-qe 

(D) gTT 

(B) sewage and other wastes 

(D) all of these 

(D) G4b Blg1 

(B) 8 TT HT 1976 

(C) June 5th 1972 (D) Dec 12th 1990 

(D) S>so 8 s fHK 

(C) 

(D) 12 fHR HT 1990 

(C) Maneka Gandhi (D) Mayilamma 

(D) À BIAI 

(D) HIAI^TT 

(B) Methyl Carbonate (C) Methyl Iso Cyanate (D) Methyl Sulphate 
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(A) f SE (B) reitm 1ftat 

(A) frTgd Heta 
(C) freTgd utggE 

The first trophic level refers to 
(A) all herbivores 

(A) yICUS 

(A) # THIET 

(A) 5IE 

(A) Jhum cultivation (B) Crop rotation 

(A) gHt 

(A) 

(A) 5 fGrER 

World Environment Day is celebrated on 

(A) September 5 

(A) Rio de Jeneiro 

(B) all grcen plants 

(A) fe fS CofACAI 

(B) #À GqE 

The cutting down of trees and setting them on fire and raising crops on the resulting ash is 

called 

(A) Bacteria 

(A) sfbfe 

(B) j Wta 

(A) rèfru 

(B) 5H qsÁlo 

(B) June5 

(B) ¢ 

(B) 5 

(B) Johannesburg 

Most important group of decomposers include 

(B) (9ANI 

(B) tEHqf 

(B) Fungi 

(C) .wt-tutCaG (D) AS 

The first International Conference on Environment was held in 

(B) A$ 

(B) frenga #ate 

(B) 54 

(D) frerga #he 

(C) sunlight 

(C) Ao 

(C) qtst fasq 

(C) 3T Ftt 

(C) July 5 

(C) Terrace farming (D) Taungya System 

(C)« aR 

(C) 5 gaÉ 

(C) Stockholm 

(C) RA 

(C) EIGzTH 

(C) Virus 

(D) all animals 

(C) staI 

(D) 

(C) HI^RH 

(D) # rof 

(D) DIa e-fs 

(D) 
frs gUrt 

(D) May 5 

(D) « 

(D) 5 4$ 

(D) New Delhi 

(D) $ f�e 

(D) Both (A) and (B) 

(D) (A) QR (B) GNE 

(D) (A) 3t (B) GA 

Turn Over 
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Sources of ionizing radiations are 
(A) X-Rays 

(A) �ØH3 

(A) y 

A food web consists of 
(A) A single food chain 

Eutrophication is a phenomenon which results due to 
(A) Nutrient enrichment (B) Nutrient depletion (C) Estuary formation (D) Rock formation 

(B) Infra-Red Rays 

(A) H 

(B) wOIas af 

(C) Many interconnected food chains 

(A) H, 

(B) 3/q5 fcbyu 

(C) gGCAPUA e 

(A) H, 

Which will not cause any atmospheric pollution? 

(A) <a�fa 

(B) 84 HN 

(A) GTA 

(B) SO2 

(B) SO, 

Which one is not a renewable source of energy? 
(A) Forest 

(B) SO; 

(B) Coal 

(B) 4G1t 

(B) t_oI 

(C) Smoke detectors (D) All of these 

Soil erosion can be prevented by 

(A) Over grazing 

12 

(C) Estuary d4 

(D) All of these 
(B) Many independent food chain 

(B) HCAOef TI 

(D) TYTH Tà 

(C) CO, 

(C) CO, 

(C) CO, 

(C) Water 

(C) Gra 

(C) ud 

(B) Removal of vegetation (C) Plantation 

(D) t ba 

(D) gI¬8VOT AHfU 

(D) CO 

(D) CO 

(D) CO 

(D) Biogas 

(D) 

(D) arrT 

(D) Increasing bird population 
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(A) Jes qyaruGRI 
(C) qHgfeGRI 

The primary producer of a pond ecosystem is 

(A) Zooplankton (B) Red algae 

(A) er UTsD 

(A) ISGCA 

(C) I�erI�GEA 

(A) f5 (Niche) 

(A) A 

(A) eT 

(A) qHs 

(B) GbRMA 

(A) Forest 

(A) �fa 

(B) (G1QS 7 

The zone in which two ecosystems are united is known as 

(A) Niche 

(A) qfa 

(B) Habitat 

(A) IEt 

(B) 18 

(B) ste 

'Chipko' movement is related to 

(B) Biomass 

(B) e 

(B) otqHE 

The living organisms of a particular area is known as 

(A) Biosphere 

(B) Grasslands 

(B) Agf 

(B) qurt 

Which rock can be eroded by solution process? 

(A) Granite (B) Pegmatite 

(C) qMe 

(B) (95DID 

13 

(B) 4f ArorHMGTRT 

(D) RgbEftot ga ERT 

(C) Phytoplankton (D) Floating plants 

(C) GT eTTsDA 

(B) S yft 
(D) hitfes H 

(C) Ecotype 

(C) }rPDE 

(C) zegy 

() Lithosphere 

(C) g 

(C) FdHng 

(C) Wetlands 

(C) 9GgA 

(D) RU 

(C) HTGA 

(C) Lime stone 

(C) AGD 

(D) Ecotone 

(D) }PDR 

(D) FatetH 

(D) Animal Kingdom 

(D) e19t R 

(D) Y-HIA 

(D) Livestock 

(D) 

(D) 4YHR4G 

(D) Ophiolite 

(D) efgD 
Turn Over 
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(A) tAIg 

The reasons behind landslides in Darjceling are 
(A) Excessive rainfall 

(A) aftgfe 

(C) Unscientific construction and dumping of garbage 

Which one is a non-communicable disease? 
(A) Cancer 

(A) j|I 

(A) ATR 

(A) to conserve wildlife 

(B) frtTgT 

(A) J2nat t 

(A) qtao ireo 

(C) to rehabilitate the wildlife 

(C) qftEVE0 TTaÍ# 

(B) AIDS 

(A) ASA 

(B) AIDS 

(A) THHITR 

(B) VEH 

(A) B1RgA 

The major step in The Wildlife Protection Act 1972 is 

(B) AA 

(C) I yceR 

(B) VIHHTR 

The Wildlife Protection Act 1972'9 QP|G yJU DY QGt 

(B) yNgt 

(B) S 

(D) QUHS HAOfO3 

14 

(B) 54 
(D) GY5 Hà 

(C) Malaria 

Forest helps in mitigating global warming through 
(A) Heat radiation (B) Heat absorption 

(C) UICOfR31 

(C) HafRy 

First International Conference on Wetland Conservation' was held in 
(A) Ramsagar (B) Ramsar 

(D) 7Je1 

(B) to restore wildlife habitat 

(D) to protect the wildlife 

(C) Ramsahar 

(B) 7J21Tia 9s P0 

(C) A1A 

(C) THYIER 

(D) tfhtge 

afPA0 

(B) Earthquake 
(D) All of these 

(B) 4J0ta EbOI y GElc 
(D) qtGEHOI qlg 

(D) Tuberculosis 

(C) Transpiration 

(C) RA 

(D) A 

(D) 44RT 

(D) Stockholm 

(D) 042r 

(D) FeTbEÌH 

(D) Photosynthesis 

(D) ARUN 
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(A) TTo fafougIRT (B) T 3qqUERI (C) ArthuERI 

Main source of noise pollution 
(A) Urbanization 

(C) Photochemical smog 

(A) 5A 

(A) IE0rU 

A recent technique for the study of vegetation 

(A) Photography 
(C) Genetic Information analysis 

(A) setTt 

Deforestation generally decreases 

(A) Rainfall 

(A) 0Z-TS 

(A) qgf 

(A) arÝrs HAIT 

(B) A(AID aR 

(A) Natural gas 

(B) Soil erosion 

Both power and manure are provided by 

(B) Nuclear plant (A) Thermal plant 

(A) etgfe¢ SIH 

(B) 

(B) 41et atry 

(B) ItY HYAAIE 

(B) (CI 

(B) Industrialization 

Which one of the following is not a fossil fuel? 

(B) Petrol 

15 

(D) Both (A) and (B) 

(B) EIN 

(D) (A) R (B) 

(B) 3tenfyo 

(D) (A) 3f (B) 

(B) Remote sensing 

(D) Observation 

(C) frog fr 

(B) rte fT 

(D) 3as1T 

(C) Drought 

(C) a1 

(C) Biogas plant 

(C) Coal 

(D) yOTeÍtYUIEIT 

(C) PHGI 

(D) po 

(D) Global warming 

(D) bIA 

(D) tgTafts 

(D) Hydroelectric plant 

(C) arrgH HYAAIT (D) qfdt ie 

(D) GJ (PH 

(D) Uranium 

(D) 9fatA 

Turn Over 



VG/CBCS/B.Se/B.Com./BBA/BCABBATAHYIst Sem./Environmental Studies/ AECCENVSZ018 

79. 

80. 

1321 

2h0urs 

(A) Ipfs TYTH 

Lions are found in 
(A) Gir Forest 

(A) frR 

Hot spot is related to 
(A) Niche 

Hot spot AaDA A 
(A) fAB (Niche) 
(C) kay 
Hot spot Ì H 
(A) AT 
(C) ta fafauafa 

(B) tgta 

(B) Western Ghat 

(B) Yftaft yrc 

(B) baet foo (C)A 

(B) Ecological Pyramid 
F 

(C) gell 

16 

(C) Sundarban 

(C) YTrqT 

(B) IgUs fES 

(D) grfAH 

(D) TIEUr AN 

(D) Buxa Forest 

(D) 0 

(C) Biodiversity (D) Ecological Efficiency 

(D) HT 

(B) qrRfRerfta frrfAs f 
(D) Rfufaci GfHT 
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